KANSAS CORPORATION COMMISSION
OIL & GAS CONSERVATION DIVISION
WELL COMPLETED

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 31337	API No. 15 - 095-22140-0000
Name: Wildcat Oil & Gas, LLC	County: Kingman
Address: 10286 SW 170 Ave.	<u>W/2 -SW - SW - Sec. 19 Twp. 29 S. R. 8 □ East</u> West
City/State/Zip: Nashville, KS 67112	660 feet from ⑤/ N (circle one) Line of Section
Purchaser: West Wichita Gas Gathering, LLC	330 feet from E / W (circle one) Line of Section
Operator Contact Person: Gary Adelhardt	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 243-4401	(circle one) NE SE NW
Contractor: Name: Hardt Drilling, LLC	Lease Name: Hageman Well #: 1
License: 33902	Field Name: Willowdale SE
Wellsite Geologist: Max R. Lovely	Producing Formation: Missisisppi
Designate Type of Completion:	Elevation: Ground: 1640' Kelly Bushing: 1650'
New Well Re-Entry Workover	Total Depth: 4340' Plug Back Total Depth:
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 212' Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes ✓ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	
Well Name:	feet depth tosx cmt.
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	
Plug Back Plug Back Total Depth	Chloride content 42,000 ppm Fluid volume 1200 bbls
Commingled Docket No	Dewatering method used Hauled off
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name: Wildcat Oil & Gas, LLC
	Lease Name: Dickson #2 SWD License No.: 31337
03/29/08	Quarter SW Sec. 8 Twp. 31 S. R. 8 East West
Recompletion Date Recompletion Date	County: Harper Docket No.: E-05673
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells	
All requirements of the statutes, rules and regulations promulgated to regulate the serion are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature Adelbush	KCC Office Use ONLY
itle: Secretary/Treasurer Date: 06/16/08	Letter of Confidentiality Received
Subscribed and sworn to before me this loaday of	If Denied, Yes Date:
	RUTH KERR Wireline Log Received RECEIVED
Notary Public: Hotary Public: My Appt. Expir	RUTH KERR Public - State of Kansas Geologist Report Received KANSAS CORPORATION COMMISSI es Character of Commission Co
Date Commission Expires: Cable 5 3010	JUN 1 7 2008
	CONSERVATION DIVISION WICHITA, KS

Operator Name: Wil	ldcat Oil & Gas, l	LC		Lease	Name:	Hageman		Well #:	
Sec. 19 Twp.			st 🗹 West	Count	y: Kingn	nan			
INSTRUCTIONS: S tested, time tool ope temperature, fluid re Electric Wireline Log	en and closed, flowing covery, and flow rate	ng and shu es if gas to	it-in pressures surface test,	, whether si along with t	hut-in pre	essure reached	d static level, hyd	rostatic pressu	
Drill Stem Tests Take		Ø	∕es □ No			og Forma	tion (Top), Depth	and Datum	✓ Sample
Samples Sent to Ge	ological Survey	V	res No		Nam Heel	-	,	Тор 3315	Datum -1659
Cores Taken			∕es ✓ No		Doug			3350	-1694
Electric Log Run	•	✓ \	∕es ∏No		Lans	-		3540	-1890
(Submit Copy)					Swo	ре		3903	-2253
ist All E. Logs Run:					Hert	ha		3937	-2287
Dual Comper	sated Porosi	tv Loa.	Dual Indu	ction	Che	rokee		4134	-2487
Log, Microres Log		-			Miss	issippi		4222	-2572
		Repo	CASING ort all strings set-	RECORD	✓ Ne urface, inte		ction, etc.		·
Purpose of String	Size Hole Size Casing Drilled Set (In O.D.)		Wei Lbs		Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
Surface	12-1/4"	8-5/8"		24#		212'	60/40	175	2+3% cc
Production	7-7/8"	4-1/2"		10.5#		4331'	60/40/4	40	4% sms
							Class H	185	10% salt; 5# Kil-Seal/sx
			ADDITIONA	L CEMENTII	NG / SQL	JEEZE RECOR	D	9 Gal Cla	Pro , 500 Gal A
Purpose: Perforate Protect Casing Plug Back TD	Depth Top Bottom	Type of Cement		#Sacks	Used		Type and	Percent Additive	s
Plug Off Zone			,						
Shots Per Foot	PERFORAT	ION RECOR	RD - Bridge Plu	as Set/Tyne		Acid Fr	ecture Shot Comor	at Sausaga Basa	
	Specify		Each Interval Pe			Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth			
12'	4223' - 4228'					250 gal 10%	6 hcl		
									RECEIVED ANSAS CORPORATION COM
			· · · · · · · · · · · · · · · · · · ·						
									JUN 1 7 2008
UBING RECORD	Size	Set At		Packer A		Lines			CONSERVATION DIVIS
2-3		4230'		I acker A		Liner Run	Yes V No)	
ate of First, Resumerd	Production, SWD or E	Enhr.	Producing Met		Flowing	Pumpi	ng 🔲 Gas Lii	ft Othe	er (Explain)
stimated Production Per 24 Hours	Oil 1	Bbls.	Gas 170	Mcf	Water 5 bbl	, E		Gas-Oil Ratio	Gravity
isposition of Gas	METHOD OF (COMPLETIC			0 001	Production Inter		.170	32
Vented ✓ Sold (If vented, Sub	Used on Lease		Open Hole Other (Speci	Perf.	D.	ually Comp.	Commingled _		

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Wildcat Oil & Gas 10286 SW 170th Ave. Nashville, KS 67112 INVOICE

Invoice Number: 113112

Invoice Date: Mar 25, 2008

Page:

Fed

Customer ID	Well Name/# or Customer P.O.	Payment	Terms		
Wild	Haggeman #1	Net 30	Net 30 Days		
Job Location	 Camp Location	Service Date	Due Date		
KS	 Medicine Lodge	Mar 25, 2008	4/24/08		

Quantity	item	Description	Unit Price	Amount
105.00	MAT	Class A Common	14.20	1,491.00
70.00	MAT	Pozmix	7.20	504.00
3.00	MAT	Gel	18.75	56.25
6.00	MAT	Chloride	52.45	314.70
184.00	SER	Handlign	2.15	395.60
30.00	SER	Mileage 184 sx @.09 per sk per mi	16.56	496.80
1.00	SER	Surface	917.00	917.00
30.00	SER	Mileage Pump Truck	7.00	210.00
1.00	SER	Head Rental	113.00	113.00
1.00	EQP	Wooden Plug	68.00	68.00
			KANSAS CORPOR JUN CONSERVA	EIVEU NATION COMMISSION 7 2008 NATION DIVISION HITA, KS

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 456.63

ONLY IF PAID ON OR BEFORE

Apr 24, 2008

Subtotal	4,566.35
Sales Tax	129.00
Total Invoice Amount	4,695.35
Payment/Credit Applied	
TOTAL	4,695.35

ALLIED CEMENTING CO., LLC. 30953

P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT:

Medicine ladge

DATE 3/20/08	SEC.	TWP. ZGS	RANGE		ALLED OUT	ONLOCATION	JOB START	JOB FINISH
LEASE //c (Semon	1	1			Ko North	. #	GOUNTY	STATE
OLD OR NEW (Cir			2/88		Vinto	10 10	T. T. J.	
	11 17	<i>≠</i> /	OUCAA	<i>7</i>	•	11.1.0		
CONTRACTOR /	7000	/			OWNER W	Ideat Or	1 +Uas	
	refice					<u> </u>		
HOLE SIZE	2/2/		212		CEMENT		- / /:	1-129/
	35/8		TH2/2		AMOUNT OR	DERED <u>/ 75-</u>	5x CO0.40.	275/010
TUBING SIZE		DEP						
DRILL PIPE		DEP					· · · · · · · · · · · · · · · · · · ·	
TOOL		DEP						1110
PRES. MAX	· · · · · · · · · · · · · · · · · · ·		IMUM		COMMON	105 A		1491.00
MEAS. LINE		SHC	E JOINT —		POZMIX	<u> 70</u>	_@_ <u>7,20</u>	504.00
CEMENT LEFT IN	CSG. 20	<u>) </u>			GEL		<u> @ /8.75</u>	56.25
PERFS.					CHLORIDE _	<u> 6</u>	@ <i>52.45</i>	314.70
DISPLACEMENT	<u> </u>	12/1/25	38-		ASC		@	
	EQUI	PMENT					@	
							RECEIVED	0.00
PUMP TRUCK (CEMENTE	R	Jank Ci			KANSAS C	ORPORATION COMMIS	SIUN
△	HELPER	3/4/	W.				UN@172008	
BULK TRUCK		2/-11					— <u> </u>	
	ORIVER (of H	<u> </u>			CON	ISER ATION DIVISION	***************************************
BULK TRUCK							WCHITA, KS	
#	ORIVER				II ANDI ING	184	-@ 	30010
					HANDLING_		_@ <i>2.15</i> '¥.09	395.60
	DEM.	LADIZO.			MILEAGE	SU × 707		496.80
		IARKS:	_		•		TOTAL	3258.35
Pipe on work								
m: x1755x6	0.40.2	73,0/0C	c 5 tops o	re leva		SERV	ICE	
ply, Dusp to	196' K	V/12/12	lelels fre	ske,				
Stop Shutin	relea	se Cn	15:0 Len	nert	DEPTH OF JO	B 216		
did Cist.			•	-		CHARGE		917.00
					EXTRA FOOT	`AGE	@	
					MILEAGE	30	@_ <i>7.00</i> _	210.00
NAME OF THE PARTY					MANIFOLD_		@	
					HeadRor	nted	@ <i> _3.00</i> _	113.00
							@	
CHARGE TO: ムル	11deat	OilfU	10.5					
STREET			•				TOTAL	1240.00
31KEE1		,	· · · · · · · · · · · · · · · · · · ·					
CITY	STA	TE	ZIP		8 %	'/ PLUG & FLOA	T EQUIPMEN	T
					Francescher	4		
					I WOUNDY	Solde	_@ <i>68.00</i>	68.00
7D= A 11' . J . C					1		@	
To Allied Cementi	ing Co., Ll	LC.	J					

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (785) 483-3887

Fax: (785) 483-5566

INVOICE

Invoice Number: 113270

Invoice Date: Mar 31, 2008

Page: 1

Bill To:

Wildcat Oil & Gas 10286 SW 170th Ave. Nashville, KS 67112 Federal Tax 1. D. fr.

Customer ID	Well Name/# or Customer P.O.	Payment Terms			
Wild	Haggeman #1	Net 30 Days			
Job Location	Camp Location	Service Date	Due Date		
KS	Medicine Lodge	Mar 31, 2008	4/30/08		

Quantity	ltem	Descri	ption	Unit Price	Amount
24.00	MAT	Class A Common		14.20	340.80
16.00	MAT	Pozmix		7.20	115.20
1.00	MAT	Gel		18.75	18.75
185.00	MAT	Class H Premium		15.10	2,793.50
14.00	MAT	Sodium Metasiliacate		2.20	30.80
20.00	MAT	Salt		10.80	216.00
925.00	MAT	Kol Seal		0.80	740.00
500.00	MAT	ASF		1.15	575.00
9.00	MAT -	Cla Pro		28.15	253.35
265.00	SER	Handling		2.15	569.75
30.00	SER	Mileage 265 sx @.09 per sk	per mi	23.85	715.50
1.00	SER	Production Casing		1,885.00	1,885.00
30.00	SER	Mileage Pump Truck		7.00	210.00
1.00	SER	Head Rental	RECEIVED	449.00	113.00
1.00	EQP	Top Rubber Plug	KANSAS CORPORATION COMM	15SION 62.00	62.00
1.00	EQP	Guide Shoe	ļ	169.00	169.00
1.00	EQP	AFU Insert	JUN 17 2008	254.00	254.00
5.00	EQP	Turbolizers	CONSERVATION DIVISION	4	340.00
20.00	EQP	Reciprocating Scratchers	WICHITA, KS	68.00	. 1,360.00
					·
		*			!

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1076.16

ONLY IF PAID ON OR BEFORE

Apr 30, 2008

Subtotal	10,761.65
Sales Tax	385.23
Total Invoice Amount	11,146.88
Payment/Credit Applied	CANTON AND THE PARTY OF THE PAR
TOTAL	11,146.88

ALLIED CEMENTING CO., LLC. 31060

1 1	SELL, KA	NSAS 676	65		\$	SERVICE F		-clody, Ks
HAGGEMA		Terris		Tallian arm	lovi ocim			
DATE 3-29-08	SEC.	TWP.	RANGE 08 W	CALLED OUT	ON LOCATI		START BAM	JOB FINISH
HASSEMAN	WELL#	1	LOCATION Zerd	+ 25 Al to C	a Rd. 100, 2	ISE KIN	YTY	STATE
OLD OR NEW (C			NINTO	11-57	C. VO. : WO J		7 · · · · ·	
	11 1	14 0.	#/	owners le	Sildert	- 111	1.18	
CONTRACTOR TYPE OF JOB	Produc	TRIS	45.50g	OWNER "	VIIACAT O	9,7 40	180	
	74"	T.D	10 10	_ CEMENT		•		
CASING SIZE 4			PTH 4.331'		ORDERED <u>40</u>	5x 6014	6144,4	12545, 18
TUBING SIZE			РТН		H+1095A			
DRILL PIPE			PTH		1780,500			
TOOL		DE	РТН					
PRES. MAX	,200	MI	NIMUM 100	_ COMMON_	24 A	<u>}@/</u>	1.20	340.80
MEAS. LINE	<u> </u>	SH	OE JOINT 19.92	POZMIX	16	@	7.20	115,20
CEMENT LEFT I	N CSG.	19.92		GEL	i	@ <i>_</i>	8.75	18.75
PERFS.	-			CHLORIDE	3	@		
DISPLACEMENT	68h	BBL	28 KCL motor	ASC		@		
		UIPMENT	1	185	_H	@ <u>/</u>	5.10	2793.50
	&			Sodium!	Mctasilic Ate	<u></u>	2,20	30.80
PUMP TRUCK	CEMENIA	CED 7	05 Dinovon	- Salt	20	@/	0.80	216.00
# 4/9			d .	- Kol S	eal 925	 _@_	.80	740.00
# 7/17 BULK TRUCK	DELPER	brog 6	<u>, </u>	- ASF	500 gl.	@	1.15	575.00
# 381	DRIVER	(man a	1//	$CI_{\bullet}O$		@ <i>a</i>	8.15	253,35
BULK TRUCK	DRIVER	NAY MAN	KANSAS CORPORATION	COMMISSION	<u> </u>	@		
#	DRIVER		KANSAS CORPORT			@		···
T	DITTYLIC	***************************************	JUN 177	HANDLING	3_265		7.15	569.75
				DIVISION MILEAGE .	30 x 2 6	5 X. O	9	715.50
	RE	MARKS:	CONSERVATION	KS			TOTAL	6368.63
Pilea Bota	lan Br	esk eig	-calatian Pun	P				
Prz Flosh - 208	31 Z2 K	CC. 3 Bb	Fresh Soohal	ASF.	SE	RVICE		
3B5C Fros 5, 76	naRo.	t a/150	EX 60 40,41,	7 2 ———		t		
ms, Pund Frode	car Time	2554	60:40:44.425	DEPTH OF	JOB 43	31'		
55x Class H.	1 10254	1++5-A	Kolsent/3K.ST	, 49	CK CHARGE			18 85.0
mps hash fun	P+LI	res, Rel	esselles, star	∠ EXTRA FO	_	@		
P. STIACZME	T See	Laft, 5	Cow Rote De	MILEAGE _	30		7.00	210.00
z, Float hold,	D-158/4CE	d w/ 6	8/2 BLC 295 KLC	MANIFOLI)	@		
		•	Thanks	11 20			13.00	113.00
	, 11	,		•		@		-
CHARGE TO: 4	ild CA	toil.	4Crss					
							ТОТАТ	2208.00
STREET				- 41/2"			TOTALE ,	
CITY	ST	TATE	ZIP	4/2				
				_	PLUG & FL	OAT EQU	IPMENT	₹ .
		•						
				Toi Rubbi	- The	1 @ 1	2.00	62.00
				Guidesk	v l	1 @ 7	69.00	169.00
To Allied Cemen	iting Co	HC	•	AFU I	Sert		54.00	254.00
10 / Milea Celliell	ning Co.,	LLC.		Tichil	- ~ *	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	9 40	24000